# A Distance Between Two Points and Nearest Points in a Metric Space of Curvature Bounded Below 

Areeyuth Sama-Ae*, Aniruth Phon-On, Nifatamah Makaje and Areena Hazanee<br>Department of Mathematics and Computer science, Faculty of Science and Technology, Prince of Songkla University, Pattani Campus, Pattani 94000, Thailand<br>e-mail : areeyuth.s@psu.ac.th (A. Sama-Ae); aniruth.p@psu.ac.th (A. Phon-On); nifatamah.m@psu.ac.th (N. Makaje); areena.h@psu.ac.th (A. Hazanee)


#### Abstract

In this research, geometric properties of a subset of a metric space of curvature bounded below are investigated. A necessary and sufficient condition for being a metric space of curvature bounded below and a bound for distance between two points in the metric space are also studied. Moreover, a nearest point in a metric space of curvature bounded below is introduced.


MSC: 51K05; 51K99
Keywords: curvature bounded below; the laws of cosines; nearest point

Submission date: 15.03.2022 / Acceptance date: 31.03.2022

## 1. Introduction and preliminaries

The concept of the lower and upper curvature bounds on some metric spaces without the Riemannian structure is introduced by Alexandrov [1, 2]; see also [3-9]. This idea has been very fruitful because it extended many concepts to arbitrary metric spaces. Various theorems of Riemannian Geometry, in which the newly defined bounded curvature corresponds to bounded sectional curvature, could be transfered to these spaces with less stucture. Hilbert spaces, a Riemannian manifold for which sectional curvature is bounded below and its convex subsets are examples of spaces of curvature bounded below.

In this work, we study a necessary and sufficient condition for a complete metric space to be a space of curvature bounded below and then give a lower bound for a distance between any two points. We also give some remarks about nearest points in a metric space of curvature bounded below.

Let $(X, d)$ be a metric space and $\gamma:[a, b] \rightarrow X$ a curve. The length $\ell(\gamma)$ of $\gamma$ is defined by

$$
\ell(\gamma)=\sup \sum_{i=1}^{k} d\left(\gamma\left(t_{i-1}\right), \gamma\left(t_{i}\right)\right),
$$

[^0]where the supremum is taken over all partitions $a=t_{0}<t_{1}<\cdots<t_{k}=b$ of $[a, b]$. Then
$$
d^{*}(x, y):=\inf \{\ell(\gamma) \mid \gamma \text { is a curve from } x \text { to } y\},
$$
for all $x, y \in X$, defines a metric on $X$ with distance values in $[0, \infty]$. If $d=d^{*}$, then ( $X, d$ ) is called a length space.

A geodesic in $X$ is an isometry from $R=(-\infty, \infty)$ into $X$. We may also refer to the image of this isometry as a geodesic. A geodesic path joining two points $x$ and $y$ is a $\operatorname{map} c:[0, l] \subset R \rightarrow X$ such that $c(0)=x$ and $c(l)=y$, and $d\left(c(t), c\left(t^{\prime}\right)\right)=\left|t-t^{\prime}\right|$ for all $t, t^{\prime} \in[0, l]$. Usually, the image $c([0, l])$ is called a geodesic segment joining $x$ and $y$. If there is a unique geodesic segment joining two points $x$ and $y$, then $[x, y]$ is denoted the geodesic segment joining $x$ and $y$. The metric space $(X, d)$ is called a geodesic space if each pair of two points of $X$ is joined by a geodesic segment.

Definition 1.1. [3] Let $K$ be a real number. The $R_{K}$ is one of the following spaces, depending on the sign of $K: R^{2}$, if $K=0$, the Euclidean sphere of radius $1 / \sqrt{K}$, if $K>0$, and the hyperbolic plane of curvature $K$, if $K<0$.

Denote the diameter of $R_{K}$ by $D_{K}$, i.e.,

$$
D_{K}=\left\{\begin{array}{ccc}
\frac{\pi}{\sqrt{K}} & \text { for } & K>0 \\
\infty & \text { for } & K \leq 0 .
\end{array}\right.
$$

We can get more about the spaces $R_{K}$ in [3, 10]. For convenience, throughout this work, we let $\lambda=\sqrt{K}$ if $K \neq 0$. If $a, b$ and $c$ are arc lengths of the sides of a geodesic triangle in $R_{K}$ with opposite angles $\alpha, \beta$ and $\gamma$, respectively, then the following properties are the laws of cosines [11],

$$
\begin{aligned}
\cosh (\lambda a) & =\cosh (\lambda b) \cosh (\lambda c)-\sinh (\lambda b) \sinh (\lambda c) \cos \alpha & & \text { if } \quad K<0 \\
a^{2} & =b^{2}+c^{2}-2 b c \cos \alpha & & \text { if } \quad K=0 \\
\cos (\lambda a) & =\cos (\lambda b) \cos (\lambda c)+\sin (\lambda b) \sin (\lambda c) \cos \alpha & & \text { if } \quad K>0 .
\end{aligned}
$$

A geodesic triangle $\triangle(p, q, r)$ in $X$ is a triangle with points $p, q, r$ as its vertices and three chosen geodesics $[p, q],[q, r],[p, r]$ as its sides. A comparison triangle in $R_{K}$ for the geodesic triangle $\triangle(p, q, r)$ in $X$ is a triangle $\triangle(\tilde{p}, \tilde{q}, \tilde{r})$ in $R_{K}$ such that $d(p, q)=$ $d(\tilde{p}, \tilde{q}), d(q, r)=d(\tilde{q}, \tilde{r})$, and $d(p, r)=d(\tilde{p}, \tilde{r})$. Such a triangle $\triangle(\tilde{p}, \tilde{q}, \tilde{r})$ always exists if $d(p, q)+d(q, r)+d(p, r)<2 D_{K}$ and it is unique up to isometries.

Given a pair of a triangle $\triangle(p, q, r)$ in $X$ and its comparison triangle $\triangle(\tilde{p}, \tilde{q}, \tilde{r})$ in $R_{K}$, the comparison point for a point $x \in[q, r]$ is the point denoted by $\tilde{x}$ in $[\tilde{q}, \tilde{r}]$ such that $d(q, x)=d(\tilde{q}, \tilde{x})$, and the comparison angle at $q$ of the triangle $\triangle(p, q, r)$ is the angle at $\tilde{q}$ of the triangle $\triangle(\tilde{p}, \tilde{q}, \tilde{r})$. We denote $\widetilde{\angle}(q, p, r)$ the angle at $\tilde{p}$ of a triangle $\triangle(\tilde{p}, \tilde{q}, \tilde{r})$ in $R_{K}$. Sometimes, for convenience we let a triangle $\widetilde{\triangle}(p, q, r)$ in $R_{K}$ be a comparison triangle of $\triangle(p, q, r)$ in $X$.

Definition 1.2. [3] Let $X$ be a length space. A locally complete space $X$ is a space of curvature bounded below by a real number $K$ if every point $x \in X$ has a neighborhood $U(x)$ such that the following condition is satisfied:
(A) for any four distinct points $p, q, r, s \in U(x), \tilde{\angle}(q, s, p)+\tilde{\angle}(q, s, r)+\tilde{\angle}(p, s, r) \leq 2 \pi$.

For spaces in which, locally, any two points are joined by a geodesic, in particular for locally compact spaces, the condition $(A)$ in Definition 1.2 can be replaced by the condition:
$(B)$ for any triangle $\triangle(p, q, r)$ in $U(x)$ and any point $s$ on the side $[q, r]$, the inequality $d(p, s) \geq d(\tilde{p}, \tilde{s})$ is satisfied, where $\tilde{s}$ is the corresponding point of $s$ on the side $[\tilde{q}, \tilde{r}]$ of a comparison triangle $\widetilde{\triangle}(p, q, r)$.

Let $X$ be a space of curvature bounded below by $K$ and $\alpha$ and $\beta$ be two geodesics starting at a point $p$ in $X$. The angle between $\alpha$ and $\beta$ is defined by

$$
\lim _{s \rightarrow 0} \cos ^{-1}\left(\frac{d^{2}(p, \alpha(s))+d^{2}(p, \beta(s))-d^{2}((\alpha(s), \beta(s))}{2 d(p, \alpha(s)) d(p, \beta(s))}\right),
$$

if the limit exists. The angle at $p$ of a triangle $\triangle(p, q, r)$ is the angle between $[p, q]$ and [ $p, r$ ] and denoted by $\angle(q, p, r)$.

The condition $(B)$ is equivalent to the following condition:
$(\widetilde{B})$ for any triangle $\triangle(p, q, r)$ in $U(x), \angle(p, q, r) \geq \widetilde{\angle}(p, q, r), \angle(q, r, p) \geq \widetilde{\angle}(q, r, p)$, and $\angle(r, p, q) \geq \widetilde{\angle}(r, p, q)$, where $\widetilde{\triangle}(p, q, r)$ is a comparison triangle in $R_{K}$ of the triangle $\triangle(p, q, r)$.

By Definition 1.2, we have that if $X$ is a space of curvature bounded below by $K_{1}$, then it is a space of curvature bounded below by $K_{2}$ for every $K_{2} \leq K_{1}$. A Riemannian manifold of sectional curvature bounded below by $K$ and its convex subsets are spaces of curvature bounded below by $K$, a Hilbert space is a space of curvature bounded below by 0 , and $R_{K}$ is a space of curvature bounded below by $K$, for examples.

It is worth to remark that in any metric space $X$ of curvature bounded below by $K$, there is no a branch point in $X$. Suppose there were a branch point in $X$, then there exists a triangle $\triangle$ which is thinner than its comparison triangle, which is impossible.

Spaces with curvature bounded below were defined above using local conditions. However, for complete spaces, the global conditions may be deduced from the corresponding local ones. In this work, we set $X$ being a metric space of curvature bounded above using global conditions and then we call $X$ a metric space of curvature bounded above in the large. We can see more about the spaces of curvature bounded below in [1, 3].

Theorem 1.3. [3] If $X$ is a metric space of curvature bounded below by $K$ in the large, where $K>0$, then $\operatorname{dim}(X) \leq D_{K}$ and any triangle in $X$ has perimeter no greater than $2 D_{K}$.

Theorem 1.4. Let $X$ be a metric space of curvature bounded below by $K$ in the large, $\triangle(p, q, r)$ a triangle in $X$ and $\triangle(\tilde{p}, \tilde{q}, \tilde{r})$ a comparison triangle in $R_{K}$. If $d(p, q)=d(\tilde{p}, \tilde{q})$, $d(p, r)=d(\tilde{p}, \tilde{r})$, and $\angle(q, p, r)=\angle(\tilde{q}, \tilde{p}, \tilde{r})$, then $d(q, r) \leq d(\tilde{q}, \tilde{r})$.

Proof. Let $d(p, q)=d(\tilde{p}, \tilde{q}), d(p, r)=d(\tilde{p}, \tilde{r})$, and $\angle(q, p, r)=\angle(\tilde{q}, \tilde{p}, \tilde{r})$. We shall show that $d(q, r) \leq d(\tilde{q}, \tilde{r})$. Suppose that $d(q, r)>d(\tilde{q}, \tilde{r})$. Let $\triangle(\tilde{p}, \tilde{q}, \tilde{s})$ be a comparison triangle of $\triangle(p, q, r)$. Then we have $\angle(p, q, r) \geq \angle(\tilde{p}, \tilde{q}, \tilde{s})$. As $d(q, r)=d(\tilde{q}, \tilde{s})$, we have $d(\tilde{q}, \tilde{s})>d(\tilde{q}, \tilde{r})$, and hence $\angle(\tilde{p}, \tilde{q}, \tilde{s})>\angle(\tilde{p}, \tilde{q}, \tilde{r})$. So we have $\angle(p, q, r)>\angle(\tilde{p}, \tilde{q}, \tilde{r})$, which is a contradiction. Therefore $d(q, r) \leq d(\tilde{q}, \tilde{r})$, as desired.

## 2. Distance between two points

In this section we give a necessary and sufficient condition for being a space of curvature bounded below. We also give a lower bound for distance between two points in this space. Let $\triangle(\tilde{x}, \tilde{y}, \tilde{z})$ be a triangle in $R_{K}$. We firstly give the distance between the point $\tilde{z}$ and the midpoint $\tilde{m}$ of the geodesic segment $[\tilde{x}, \tilde{y}]$, opposite the angle at $\tilde{z}$ by the following lemma.

Lemma 2.1. Let $\triangle(\tilde{x}, \tilde{y}, \tilde{z})$ be a triangle in $R_{K}$ and $\tilde{m}$ the midpoint between two points $\tilde{x}$ and $\tilde{y}$. Then

$$
d(\tilde{m}, \tilde{z})= \begin{cases}\frac{1}{\lambda} \cosh ^{-1}\left(\frac{\cosh [\lambda d(\tilde{x}, \tilde{z})]+\cosh [\lambda d(\tilde{y}, \tilde{z})]}{2 \cosh \left[\lambda \frac{d(\tilde{x}, \tilde{y})}{2}\right]}\right) & \text { if } K<0 \\ \sqrt{\frac{1}{2}\left[d^{2}(\tilde{x}, \tilde{z})+d^{2}(\tilde{y}, \tilde{z})\right]-\frac{1}{4} d^{2}(\tilde{x}, \tilde{y})} & \text { if } K=0 \\ \frac{1}{\lambda} \cos ^{-1}\left(\frac{\cos [\lambda d(\tilde{x}, \tilde{z})]+\cos [\lambda d(\tilde{y}, \tilde{z})]}{2 \cos \left[\lambda \frac{d(\tilde{x}, \tilde{y})}{2}\right]}\right) & \text { if } K>0\end{cases}
$$

Proof. Let $\alpha=\angle(\tilde{x}, \tilde{m}, \tilde{z})$. Now we consider two triangles $\triangle(\tilde{x}, \tilde{m}, \tilde{z})$ and $\triangle(\tilde{y}, \tilde{m}, \tilde{z})$ in three possibilities.
Case $K<0$. By the law of cosine in $R_{K}$, we have

$$
\cosh [\lambda d(\tilde{x}, \tilde{z})]=\cosh [\lambda d(\tilde{x}, \tilde{m})] \cosh [\lambda d(\tilde{m}, \tilde{z})]-\sinh [\lambda d(\tilde{x}, \tilde{m})] \sinh [\lambda d(\tilde{m}, \tilde{z})] \cos \alpha,(1)
$$

and
$\cosh [\lambda d(\tilde{y}, \tilde{z})]=\cosh [\lambda d(\tilde{y}, \tilde{m})] \cosh [\lambda d(\tilde{m}, \tilde{z})]-\sinh [\lambda d(\tilde{y}, \tilde{m})] \sinh [\lambda d(\tilde{m}, \tilde{z})] \cos (\pi-\alpha)$.
Since $d(\tilde{x}, \tilde{m})=d(\tilde{y}, \tilde{m})$ and $\cos (\pi-\alpha)=-\cos (\alpha)$, by (2) we have that

$$
\begin{equation*}
\cosh [\lambda d(\tilde{y}, \tilde{z})]=\cosh [\lambda d(\tilde{x}, \tilde{m})] \cosh [\lambda d(\tilde{m}, \tilde{z})]+\sinh [\lambda d(\tilde{x}, \tilde{m})] \sinh [\lambda d(\tilde{m}, \tilde{z})] \cos (\alpha) . \tag{3}
\end{equation*}
$$

Using (1) and (3), we get

$$
\cosh [\lambda d(\tilde{x}, \tilde{z})]+\cosh [\lambda d(\tilde{y}, \tilde{z})]=2 \cosh [\lambda d(\tilde{x}, \tilde{m})] \cosh [\lambda d(\tilde{m}, \tilde{z})]
$$

and so

$$
\cosh [\lambda d(\tilde{m}, \tilde{z})]=\frac{\cosh [\lambda d(\tilde{x}, \tilde{z})]+\cosh [\lambda d(\tilde{y}, \tilde{z})]}{2 \cosh [\lambda d(\tilde{x}, \tilde{m})]}
$$

Hence

$$
d(\tilde{m}, \tilde{z})=\frac{1}{\lambda} \cosh ^{-1}\left(\frac{\cosh [\lambda d(\tilde{x}, \tilde{z})]+\cosh [\lambda d(\tilde{y}, \tilde{z})]}{2 \cosh [\lambda d(\tilde{x}, \tilde{m})]}\right) .
$$

As we know that $d(\tilde{x}, \tilde{y})=2 d(\tilde{m}, \tilde{x})$, it follows that

$$
d(\tilde{m}, \tilde{z})=\frac{1}{\lambda} \cosh ^{-1}\left(\frac{\cosh [\lambda d(\tilde{x}, \tilde{z})]+\cosh [\lambda d(\tilde{y}, \tilde{z})]}{2 \cos \left[\lambda \frac{d(\tilde{x}, \tilde{y})}{2}\right]}\right) .
$$

Case $K=0$. By the law of cosine in $R_{0}$, we have

$$
\begin{equation*}
d^{2}(\tilde{x}, \tilde{z})=d^{2}(\tilde{x}, \tilde{m})+d^{2}(\tilde{m}, \tilde{z})-2 d(\tilde{x}, \tilde{m}) d(\tilde{m}, \tilde{z}) \cos \alpha \tag{4}
\end{equation*}
$$

and

$$
\begin{equation*}
d^{2}(\tilde{y}, \tilde{z})=d^{2}(\tilde{y}, \tilde{m})+d^{2}(\tilde{m}, \tilde{z})-2 d(\tilde{y}, \tilde{m}) d(\tilde{m}, \tilde{z}) \cos (\pi-\alpha) . \tag{5}
\end{equation*}
$$

By (4) and (5) we have

$$
\begin{aligned}
d^{2}(\tilde{x}, \tilde{z})+d^{2}(\tilde{y}, \tilde{z})= & d^{2}(\tilde{x}, \tilde{m})+d^{2}(\tilde{m}, \tilde{z})-2 d(\tilde{x}, \tilde{m}) d(\tilde{m}, \tilde{z}) \cos \alpha \\
& +d^{2}(\tilde{y}, \tilde{m})+d^{2}(\tilde{m}, \tilde{z})-2 d(\tilde{y}, \tilde{m}) d(\tilde{m}, \tilde{z}) \cos (\pi-\alpha) \\
= & d^{2}(\tilde{x}, \tilde{m})+d^{2}(\tilde{m}, \tilde{z})+d^{2}(\tilde{y}, \tilde{m})+d^{2}(\tilde{m}, \tilde{z}) \\
= & 2 d^{2}(\tilde{x}, \tilde{m})+2 d^{2}(\tilde{m}, \tilde{z}) \\
= & \frac{d^{2}(\tilde{x}, \tilde{y})}{2}+2 d^{2}(\tilde{m}, \tilde{z}) .
\end{aligned}
$$

Hence

$$
d^{2}(\tilde{m}, \tilde{z})=\frac{1}{2}\left(d^{2}(\tilde{x}, \tilde{z})+d^{2}(\tilde{y}, \tilde{z})\right)-\frac{d^{2}(\tilde{x}, \tilde{y})}{4} .
$$

Case $K>0$. By the law of cosine in $R_{K}$, we have

$$
\begin{equation*}
\cos [\lambda d(\tilde{x}, \tilde{z})]=\cos [\lambda d(\tilde{x}, \tilde{m})] \cos [\lambda d(\tilde{m}, \tilde{z})]+\sin [\lambda d(\tilde{x}, \tilde{m})] \sin [\lambda d(\tilde{m}, \tilde{z})] \cos \alpha \tag{6}
\end{equation*}
$$

and

$$
\begin{equation*}
\cos [\lambda d(\tilde{y}, \tilde{z})]=\cos [\lambda d(\tilde{y}, \tilde{m})] \cos [\lambda d(\tilde{m}, \tilde{z})]+\sin [\lambda d(\tilde{y}, \tilde{m})] \sin [\lambda d(\tilde{m}, \tilde{z})] \cos (\pi-\alpha) \tag{7}
\end{equation*}
$$

Since $d(\tilde{x}, \tilde{m})=d(\tilde{y}, \tilde{m})$ and $\cos (\pi-\alpha)=-\cos (\alpha)$, by (7) we have that

$$
\begin{equation*}
\cos [\lambda d(\tilde{y}, \tilde{z})]=\cos [\lambda d(\tilde{x}, \tilde{m})] \cos [\lambda d(\tilde{m}, \tilde{z})]-\sin [\lambda d(\tilde{x}, \tilde{m})] \sin [\lambda d(\tilde{m}, \tilde{z})] \cos (\alpha) . \tag{8}
\end{equation*}
$$

Adding (6) and (8), we get

$$
\cos [\lambda d(\tilde{x}, \tilde{z})]+\cos [\lambda d(\tilde{y}, \tilde{z})]=2 \cos [\lambda d(\tilde{x}, \tilde{m})] \cos [\lambda d(\tilde{m}, \tilde{z})],
$$

and thus

$$
\cos [\lambda d(\tilde{m}, \tilde{z})]=\frac{\cos [\lambda d(\tilde{x}, \tilde{z})]+\cos [\lambda d(\tilde{y}, \tilde{z})]}{2 \cos [\lambda d(\tilde{x}, \tilde{m})]}
$$

Hence

$$
d(\tilde{m}, \tilde{z})=\frac{1}{\lambda} \cos ^{-1}\left(\frac{\cos [\lambda d(\tilde{x}, \tilde{z})]+\cos [\lambda d(\tilde{y}, \tilde{z})]}{2 \cos [\lambda d(\tilde{x}, \tilde{m})]}\right) .
$$

As $d(\tilde{x}, \tilde{y})=2 d(\tilde{m}, \tilde{x})$, it becomes

$$
d(\tilde{m}, \tilde{z})=\frac{1}{\lambda} \cos ^{-1}\left(\frac{\cos [\lambda d(\tilde{x}, \tilde{z})]+\cos [\lambda d(\tilde{y}, \tilde{z})]}{2 \cos \left[\lambda \frac{d(\tilde{x}, \tilde{y})}{2}\right]}\right)
$$

The proof is completed.
Theorem 2.2. Let $X$ be a complete metric space. The space $X$ is a space of curvature bounded below by $K$ in the large if and only if for any pair of different points $x, y \in X$, there exists the midpoint $m$ between them such that,

$$
d(m, z) \geq \begin{cases}\frac{1}{\lambda} \cosh ^{-1}\left(\frac{\cosh [\lambda d(x, z)]+\cosh [\lambda d(y, z)]}{2 \cosh \left[\lambda \frac{d(x, y)}{2}\right]}\right) & \text { if } K<0 \\ \sqrt{\frac{1}{2}\left[d^{2}(x, z)+d^{2}(y, z)\right]-\frac{1}{4} d^{2}(x, y)} & \text { if } K=0 \\ \frac{1}{\lambda} \cos ^{-1}\left(\frac{\cos [\lambda d(x, z)]+\cos [\lambda d(y, z)]}{2 \cos \left[\lambda \frac{d(x, y)}{2}\right]}\right) & \text { if } K>0\end{cases}
$$

for all $z \in X$.

Proof. Suppose that $X$ is a space of curvature bounded below by $K$ in the large. Let $x, y, z \in X$. We choose $m$ the midpoint of geodesic segment $[x, y]$. We consider a comparison triangle $\triangle(\tilde{x}, \tilde{y}, \tilde{z})$ in $R_{K}$ of the triangle $\triangle(x, y, z)$. Let $\tilde{m}$ be the midpoint of $[\tilde{x}, \tilde{y}]$. By Lemma 2.1, we have

$$
d(\tilde{m}, \tilde{z})= \begin{cases}\frac{1}{\lambda} \cosh ^{-1}\left(\frac{\cosh [\lambda d(\tilde{x}, \tilde{z})]+\cosh [\lambda d(\tilde{y}, \tilde{z})]}{2 \cosh \left[\lambda \frac{d(\tilde{x}, \tilde{y})}{2}\right]}\right) & \text { if } \quad K<0 \\ \sqrt{\frac{1}{2}\left[d^{2}(\tilde{x}, \tilde{z})+d^{2}(\tilde{y}, \tilde{z})\right]-\frac{1}{4} d^{2}(\tilde{x}, \tilde{y})} & \text { if } \quad K=0 \\ \frac{1}{\lambda} \cos ^{-1}\left(\frac{\cos [\lambda d(\tilde{x}, \tilde{z})]+\cos [\lambda d(\tilde{y}, \tilde{z})]}{2 \cos \left[\lambda \frac{d(\tilde{x}, \tilde{y})}{2}\right]}\right) & \text { if } \quad K>0,\end{cases}
$$

and hence the result follows by $d(y, z)=d(\tilde{y}, \tilde{z}), d(x, z)=d(\tilde{x}, \tilde{z}), d(x, y)=d(\tilde{x}, \tilde{y})$ and $d(m, z) \geq d(\tilde{m}, \tilde{z})$.

Next, we shall prove the necessity. Suppose that the sufficiency holds and suppose that for a pair of different points $x, y \in X$, there exists the midpoint $m$ between them satisfying the following:

$$
d(m, z) \geq \begin{cases}\frac{1}{\lambda} \cosh ^{-1}\left(\frac{\cosh [\lambda d(x, z)]+\cosh [\lambda d(y, z)]}{2 \cosh \left[\lambda \frac{d(x, y)}{2}\right]}\right) & \text { if } \quad K<0 \\ \sqrt{\frac{1}{2}\left[d^{2}(x, z)+d^{2}(y, z)\right]-\frac{1}{4} d^{2}(x, y)} & \text { if } \quad K=0 \\ \frac{1}{\lambda} \cos ^{-1}\left(\frac{\cos [\lambda d(x, z)]+\cos [\lambda d(y, z)]}{2 \cos \left[\lambda \frac{d(x, y)}{2}\right]}\right) & \text { if } \quad K>0 .\end{cases}
$$

for all $z \in X$. Let $\tilde{m}$ be the midpoint of geodesic segment $[\tilde{x}, \tilde{y}]$. We can conclude that $X$ is a space of curvature bounded below by $K$ in the large if $d(m, z) \geq d(\tilde{m}, \tilde{z})$. By Lemma 2.1 and $d(y, z)=d(\tilde{y}, \tilde{z}), d(x, z)=d(\tilde{x}, \tilde{z})$ and $d(x, y)=d(\tilde{x}, \tilde{y})$, we have

$$
d(\tilde{m}, \tilde{z})= \begin{cases}\frac{1}{\lambda} \cosh ^{-1}\left(\frac{\cosh [\lambda d(x, z)]+\cosh [\lambda d(y, z)]}{2 \cosh \left[\lambda \frac{d(x, y)}{2}\right]}\right) & \text { if } \quad K<0 \\ \sqrt{\frac{1}{2}\left[d^{2}(x, z)+d^{2}(y, z)\right]-\frac{1}{4} d^{2}(x, y)} & \text { if } \quad K=0 \\ \frac{1}{\lambda} \cos ^{-1}\left(\frac{\cos [\lambda d(x, z)]+\cos [\lambda d(y, z)]}{2 \cos \left[\lambda \frac{d(x, y)}{2}\right]}\right) & \text { if } \quad K>0 .\end{cases}
$$

Then $d(m, z) \geq d(\tilde{m}, \tilde{z})$.
If $X$ is a $\operatorname{CAT}(K)$ space (this space is introduced in [11]), then the inequality in Theorem 2.2 becomes $\leq$, see [13].

Corollary 2.3. Let $X$ be a metric space of curvature bounded below by 0 in the large. If a triangle $\triangle$ in $X$ has sides of length $a, b, c>0$ and angle $\alpha$ at the vertex opposite to the side of length $c$, then $c^{2} \leq a^{2}+b^{2}-2 a b \cos \alpha$.

Proof. Let $\triangle$ be a triangle in $X$ whose sides of length are $a, b, c>0$ and angle is $\alpha$ at the vertex opposite to the side of length $c$ and $\triangle(\tilde{x}, \tilde{y}, \tilde{z})$ comparison triangle of $\triangle$ in $R_{0}$ such that $d(\tilde{x}, \tilde{y})=a, d(\tilde{x}, \tilde{z})=b$ and $d(\tilde{y}, \tilde{z})=c$. By the law of cosine in $R_{0}$, we have

$$
\begin{equation*}
c^{2}=a^{2}+b^{2}-2 a b \cos \angle(\tilde{y}, \tilde{x}, \tilde{z}) \tag{10}
\end{equation*}
$$

Since $X$ is a space of curvature bounded below by 0 in the large, we have $\alpha \geq \angle(\tilde{y}, \tilde{x}, \tilde{z})$ and hence $\cos \alpha \leq \cos \angle(\tilde{y}, \tilde{x}, \tilde{z})$. By (10), we have

$$
c^{2} \leq a^{2}+b^{2}-2 a b \cos \alpha .
$$

If $X$ is a CAT(0) space, then the inequality in Corollary 2.3 becomes $\geq$, see [12].
Theorem 2.4. Let $X$ be a metric space of curvature bounded below by $K$ in the large and $A$ be a bounded set of $X$. If any pair of different points $x, y \in X$ and the midpoint $m$ of them satisfy the following conditions:
(1) $d^{2}(x, A)+d^{2}(y, A) \geq 2 d^{2}(m, A)$, if $K=0$
(2) $\max \{d(x, A), d(y, A), d(m, A)\}<\frac{D_{K}}{2}$ and $\cos [\lambda d(x, A)]+\cos [\lambda d(y, A)] \leq 2 \lambda d(m, A)$, if $K>0$,
then

$$
d(x, y) \geq \begin{cases}\frac{2}{\lambda} \cosh ^{-1}\left(\frac{\cosh [\lambda d(x, A)]+\cosh [\lambda d(y, A)]}{2 \cosh \left[\lambda \frac{d(x, y)}{2}\right]}\right) & ; K<0 \\ \sqrt{2\left[d^{2}(x, A)+d^{2}(y, A)\right]-4 d^{2}(m, A)} & ; \quad K=0 \\ \frac{2}{\lambda} \cos ^{-1}\left(\frac{\cos [\lambda d(x, A)]+\cos [\lambda d(y, A)]}{2 \cos \left[\lambda \frac{d(x, y)}{2}\right]}\right) & ; \quad K>0\end{cases}
$$

Proof. Let $x, y \in X$ and $m$ the midpoint of them. We now consider in three possibilities.
Case $K<0$. By Theorem 2.2, we have seen that for each $z \in A$,

$$
d(m, z) \geq \frac{1}{\lambda} \cosh ^{-1}\left(\frac{\cosh [\lambda d(x, z)]+\cosh [\lambda d(y, z)]}{2 \cosh \left[\lambda \frac{d(x, y)}{2}\right]}\right)
$$

Since the hyperbolic cosine function is increasing, it follows that for each $z \in A$,

$$
\cosh [\lambda d(m, z)] \geq \frac{\cosh [\lambda d(x, z)]+\cosh [\lambda d(y, z)]}{2 \cosh \left[\lambda \frac{d(x, y)}{2}\right]} .
$$

Then

$$
\begin{aligned}
\cosh [\lambda d(m, A)] & =\cosh \left[\lambda \inf _{z \in A} d(m, z)\right] \\
& =\inf _{z \in A} \cosh [\lambda d(m, z)] \\
& \geq \inf _{z \in A}\left(\frac{\cosh [\lambda d(x, z)]+\cosh [\lambda d(y, z)]}{2 \cosh \left[\lambda \frac{d(x, y)}{2}\right]}\right) \\
& \geq \frac{\inf _{z \in A} \cosh [\lambda d(x, z)]+\inf _{z \in A} \cosh [\lambda d(y, z)]}{2 \cosh \left[\lambda \frac{d(x, y)}{2}\right]} \\
& =\frac{\cosh \left[\lambda \inf _{z \in A} d(x, z)\right]+\cosh \left[\lambda \inf _{z \in A} d(y, z)\right]}{2 \cosh \left[\lambda \frac{d(x, y)}{2}\right]} \\
& =\frac{\cosh [\lambda d(x, A)]+\cosh [\lambda d(y, A)]}{2 \cosh \left[\lambda \frac{d(x, y)}{2}\right]},
\end{aligned}
$$

which gives

$$
\cosh \left(\lambda \frac{d(x, y)}{2}\right) \geq \frac{\cosh [\lambda d(x, A)]+\cosh [\lambda d(y, A)]}{2 \cosh [\lambda d(m, A)]} .
$$

Hence

$$
d(x, y) \geq \frac{2}{\lambda} \cosh ^{-1}\left(\frac{\cosh [\lambda d(x, A)]+\cosh [\lambda d(y, A)]}{2 \cosh [\lambda d(m, A)]}\right) .
$$

Case $K=0$. By Theorem 2.2, we have seen that for each $z \in A$,

$$
d(m, z) \geq \sqrt{\frac{1}{2}\left[d^{2}(x, z)+d^{2}(y, z)\right]-\frac{1}{4} d^{2}(x, y)},
$$

that means,

$$
d^{2}(x, y) \geq 2 d^{2}(x, z)+2 d^{2}(y, z)-4 d^{2}(m, z)
$$

We then have

$$
\begin{aligned}
d^{2}(x, y) & \geq \inf _{z \in A}\left[2 d^{2}(x, z)+2 d^{2}(y, z)-4 d^{2}(m, z)\right] \\
& \geq 2 \inf _{z \in A} d^{2}(x, z)+2 \inf _{z \in A} d^{2}(y, z)-4 \inf _{z \in A} d^{2}(m, z) \\
& =2 d^{2}(x, A)+2 d^{2}(y, A)-4 d^{2}(m, A) .
\end{aligned}
$$

Hence

$$
d(x, y) \geq \sqrt{2 d^{2}(x, A)+2 d^{2}(y, A)-4 d^{2}(m, A)} .
$$

Case $K>0$. By Theorem 2.2, we have seen that for each $z \in A$,

$$
d(m, z) \geq \frac{1}{\lambda} \cos ^{-1}\left(\frac{\cos [\lambda d(x, z)]+\cos [\lambda d(y, z)]}{2 \cos \left[\lambda \frac{d(x, y)}{2}\right]}\right) .
$$

Since $\operatorname{dim}(X) \leq D_{K}$ and the cosine function decreases on $[0, \pi]$, we have that for each $z \in A$,

$$
\cos [\lambda d(m, z)] \leq \frac{\cos [\lambda d(x, z)]+\cos [\lambda d(y, z)]}{2 \cos \left[\lambda \frac{d(x, y)}{2}\right]} .
$$

Thus

$$
\begin{aligned}
\cos [\lambda d(m, A)] & =\cos \left[\lambda \inf _{z \in A} d(m, z)\right] \\
& =\sup _{z \in A} \cos [\lambda d(m, z)] \\
& \leq \sup _{z \in A}\left(\frac{\cos [\lambda d(x, z)]+\cos [\lambda d(y, z)]}{2 \cos \left[\lambda \frac{d(x, y)}{2}\right]}\right) \\
& \leq \frac{\sup _{z \in A} \cos [\lambda d(x, z)]+\sup _{z \in A} \cos [\lambda d(y, z)]}{2 \cos \left[\lambda \frac{d(x, y)}{2}\right]} \\
& =\frac{\cos \left[\lambda \inf _{z \in A} d(x, z)\right]+\cos \left[\lambda \inf _{z \in A} d(y, z)\right]}{2 \cos \left[\lambda \frac{d(x, y)}{2}\right]} \\
& =\frac{\cos [\lambda d(x, A)]+\cos [\lambda d(y, A)]}{2 \cos \left[\lambda \frac{d(x, y)}{2}\right]} .
\end{aligned}
$$

We now have that $\max \{d(x, A), d(y, A), d(m, A)\}<\frac{D_{K}}{2}$, which gives $\cos [\lambda d(m, A)]$, $\cos [\lambda d(x, A)]$ and $\cos [\lambda d(y, A)]$ positive, and hence

$$
\cos \left(\lambda \frac{d(x, y)}{2}\right) \leq \frac{\cos [\lambda d(x, A)]+\cos [\lambda d(y, A)]}{2 \cos [\lambda d(m, A)]} .
$$

Therefore,

$$
d(x, y) \geq \frac{2}{\lambda} \cos ^{-1}\left(\frac{\cos [\lambda d(x, A)]+\cos [\lambda d(y, A)]}{2 \cos [\lambda d(m, A)]}\right) .
$$

If $X$ is a $\operatorname{CAT}(K)$ space, then the inequality in Theorem 2.4 becomes $\leq$, see [13].

## 3. Nearest Points

In this section we define a nearest point in a metric space of curvature bounded below and then we give some remarks.

Definition 3.1. Let $X$ be a metric space of curvature bounded below by $K$ in the large and $C$ a complete convex subset of $X$ with induced metric. A point $w \in C$ is a nearest point of a point $x \in X$ if $d(x, w)=d(x, C)=\inf \{d(x, y): y \in C\}$. Let $\pi(x, C)$ denote the set of all nearest points of $x$ on $C$.

Let $X=\left\{(x, y, z) \in R^{3} \mid x^{2}+y^{2}+z^{2}=1\right\}$ and $C=\left\{(x, y, z) \in R^{3} \mid x^{2}+y^{2}+z^{2}=1, z \geq\right.$ $0\}$. Then $X$ is a metric space of curvature bounded below by 1 and $C$ is a closed convex, compact, and complete subset of $X$. We consider a point $x=(0,0,-1) \in X$. We get $\pi(x, C)=\left\{(x, y, 0) \mid x^{2}+y^{2}=1\right\}$. We can see that $\ell_{1}:=\left\{(x, y, 0) \in R^{3} \mid y=\sqrt{1-x^{2}}\right\}$ and $\ell_{2}:=\left\{(x, y, 0) \in R^{3} \mid y=-\sqrt{1-x^{2}}\right\}$ are geodesic segments, which all their points are nearest points, and $\ell_{3}:=\left\{(x, y, 0) \in R^{3} \mid y=-\sqrt{1-z^{2}}\right\}$ is a geodesic segment, whose endpoints are nearest points but the points between the endpoints are not nearest points. So we can conclude that the point between two nearest points which are the endpoints of a geodesic segment need not to be a nearest point.

Theorem 3.2. Let $X$ be a metric space of curvature bounded below by $K$ in the large and $C$ a complete convex subset and $x \in X-C$. If $y \in \pi(x, C)$ and $x^{\prime} \in[x, y]$, then $y \in \pi\left(x^{\prime}, C\right)$.

Proof. Let $y \in \pi(x, C)$ and $x^{\prime} \in[x, y]$. Suppose that $y \notin \pi\left(x^{\prime}, C\right)$. Let $z \in \pi\left(x^{\prime}, C\right)$. Then $d\left(x^{\prime}, z\right)<d\left(x^{\prime}, y\right)$. Since $d(x, y)=d\left(x, x^{\prime}\right)+d\left(x^{\prime}, y\right)$ and $y \in \pi(x, C)$, we have $d(x, y)<d(x, z)$. As $x^{\prime}$ is not a branch point, $d(x, z)<d\left(x, x^{\prime}\right)+d\left(x^{\prime}, z\right)$ and thus

$$
d\left(x, x^{\prime}\right)+d\left(x^{\prime}, y\right)=d(x, y)<d(x, z)<d\left(x, x^{\prime}\right)+d\left(x^{\prime}, z\right) .
$$

It follows that $d\left(x^{\prime}, y\right)<d\left(x^{\prime}, z\right)$, which is a contradiction. Therefore $y \in \pi\left(x^{\prime}, C\right)$, as required.

Let $D$ be a non-empty subset of $X$, we put $I_{D}(x)=\cup_{y \in X}\{y:(x, y] \cap D \neq \emptyset\} \cup\{x\}$.
Theorem 3.3. Let $X$ be a metric space of curvature bounded below by $K$ in the large, $C$ a complete convex subset of $X$ and $z \in \pi(x, C)$. Suppose that
(1) $\angle(x, z, w) \geq \frac{\pi}{2}$ and $\tilde{\angle}(x, z, w) \geq \frac{\pi}{2}$ for all $w \in C$;
(2) $y \in \overline{I_{C}(z)}-\{z\}$;
(3) $\max \{d(x, y), d(y, z), d(x, z)\}<\frac{\pi}{2 \lambda}$, if $K>0$,
then $d(x, z)<d(x, y)$.
Proof. Since $y \in \overline{I_{C}(z)}-\{z\}$, there is a sequence $y_{n} \in I_{C}(z)$ such that $y_{n} \rightarrow y$. For each large positive integer $n$, we can find $z_{n}$ in $\left(z, y_{n}\right] \cap C$. Because $z_{n} \in C-\{z\}$, by condition (1) we have that $\angle\left(x, z, z_{n}\right) \geq \frac{\pi}{2}$ and $\widetilde{\angle}\left(x, z, z_{n}\right) \geq \frac{\pi}{2}$, where $\triangle\left(\tilde{x}, \tilde{z}, \tilde{z_{n}}\right)$ is a comparison triangle of $\triangle\left(x, z, z_{n}\right)$ in $R_{K}$. As $\angle\left(\tilde{x}, \tilde{z}, \tilde{z_{n}}\right)=\angle\left(\tilde{x}, \tilde{z}, \tilde{y_{n}}\right)$, by the law of cosines in $R_{K}$, we have the following:

$$
\begin{array}{cll}
\cosh \left[\lambda d\left(\tilde{x}, \tilde{y}_{n}\right)\right] \geq \cosh [\lambda d(\tilde{x}, \tilde{z})] \cosh \left[\lambda d\left(\tilde{z}, \tilde{y}_{n}\right)\right] & \text { if } & K<0 ; \\
d^{2}\left(\tilde{x}, \tilde{y}_{n}\right) \geq d^{2}(\tilde{x}, \tilde{z})+d^{2}\left(\tilde{z}, \tilde{y}_{n}\right) & \text { if } & K=0 ; \\
\cos \left[\lambda d\left(\tilde{x}, \tilde{y}_{n}\right)\right] \leq \cos [\lambda d(\tilde{x}, \tilde{z})] \cos \left[\lambda d\left(\tilde{z}, \tilde{y}_{n}\right)\right] & \text { if } & K>0 .
\end{array}
$$

Since $d\left(x, y_{n}\right)=d\left(\tilde{x}, \tilde{y}_{n}\right), d(x, z)=d\left(\tilde{x}, \tilde{z}_{n}\right)$ and $d\left(z, y_{n}\right)=d\left(\tilde{z}, \tilde{y}_{n}\right)$,

$$
\begin{array}{clll}
\cosh \left[\lambda d\left(x, y_{n}\right)\right] \geq \cosh [\lambda d(x, z)] \cosh \left[\lambda d\left(z, y_{n}\right)\right] & \text { if } & K<0 ; \\
d^{2}\left(x, y_{n}\right) \geq d^{2}(x, z)+d^{2}\left(z, y_{n}\right) & & \text { if } & K=0 ; \\
\cos \left[\lambda d\left(x, y_{n}\right)\right] \leq \cos [\lambda d(x, z)] \cos \left[\lambda d\left(z, y_{n}\right)\right] & & \text { if } & K>0 .
\end{array}
$$

Taking $n \rightarrow \infty$, we obtain

$$
\begin{array}{cll}
\cosh [\lambda d(x, y)] \geq \cosh [\lambda d(x, z)] \cosh [\lambda d(z, y)] & \text { if } \quad K<0 ; \\
d^{2}(x, y) \geq d^{2}(x, z)+d^{2}(z, y) & \text { if } \quad K=0 ; \\
\cos [\lambda d(x, y)] \leq \cos [\lambda d(x, z)] \cos [\lambda d(z, y)] & & \text { if } \quad K>0 .
\end{array}
$$

Because $\cosh [\lambda d(z, y)]>1, d^{2}(z, y)>0$ and $\cos [\lambda d(z, y)]<1$, we have

$$
\begin{array}{ccc}
\cosh [\lambda d(x, y)]>\cosh [\lambda d(x, z)] & \text { if } \quad K<0 \\
d^{2}(x, y)>d^{2}(x, z) & \text { if } \quad K=0 \\
\cos [\lambda d(x, y)]<\cos [\lambda d(x, z)] & \text { if } \quad K>0
\end{array}
$$

which give $d(x, y)>d(x, z)$ for any $K$, as desired.

## Acknowledgements

We would like to thank the referees for their comments and suggestions on the manuscript. This work was supported by Prince of Songkla University, Pattani Campus, Thailand.

## References

[1] A.D. Alexandrov, Die innere Geometrie der konvexen Flächen. Berlin. Akademie Verlag, 1955.
[2] A.D. Alexandrov, Über eine Verallgemeinerung der Riemannschen Geometrie, Schr. Forsch. Math. 1 (1957) 33-84.
[3] D. Burago, Yu. Burago, and S. Ivanov, A Course in Metric Geometry. in: Graduate Stud. Math. Vol.33, Amer. Math. Society, Providence, RI, 2001.
[4] Yu. Burago, M. Gromov, and G. Perel'man, A.D. Alexandrov spaces with curvature bounded below. Russian Math. Surveys. 47 (1992) 1-58.
[5] S. Halbeisen, On tangent cone of Alexandrov spaces with curvature bounded below. Manuscripta Math. 103 (2000) 169-182.
[6] N. Lebedeva, and A. Petrunin, Curvature bounded below: a definition a la BergNikolaev. Elec. Res. Ann. in Math. Sci. 17 (2010) 122124.
[7] A. Petrunin, Parallel Transportation for Alexandrov space with curvature bounded below. GAFA, Geom. funct. anal. 8 (1998) 123-148.
[8] H.W. Sun, Y.S. Wang, and X.L. Su, A new proof of almost isometry theorem in alexandrov geometry with curvature bounded below. Asian J. Math., 17 (2013) 715728.
[9] T. Yokota, A rigidity theorem in Alexandrov spaces with lower curvature bound, Mathematische Annalen. 353 (2012) 305-331.
[10] D.V. Alekseevskij, A.S. Solodovnikov, and E.B. Vinberg, Geometry of spaces of constant curvature. in: E.B. Vinberg (Ed.), Geometry II, Space of Constant Curvature, in: Encyclopedia Math. Sci. 29 (1993) 6-138.
[11] M.R. Bridson, A. Haefliger, Metric spaces of Nonpositive Curvature, Springer, Heidelburg, 1999.
[12] W. Ballmann, Lectures on Spaces of Nonpositive Curvature, Birkhauser, Basel, 1995.
[13] A. Sama-Ae, On subspaces of CAT(K) spaces, Int. Journal of Math. Analysis. 1 (2007) 1249-1260.


[^0]:    *Corresponding author.

